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Materials 
9 (10, 11) skeins Baby Merino XL col. 60 
4 (5, 6) skeins Kid Silk col. 19 
 
Circular needle 80 cm, 6 mm 
An extra circular needle  
Stitch markers 
 
Yarn 
Baby Merino XL​, Hobbii 
100% Wool/50 g = 105 meters 
Kid Silk​, Hobbii 
70% Kid Mohair, 30% Silk/ 
25 g = 195 meter 
 
Gauge 
12 stitches and 32 rounds on 10 cm  
in English Rib, with 1 strand of each quality 
 
 
Purchase your yarn here 
http://shop.hobbii.com/naya-english
-rib-sweater  
 

Size 
S (M, L) 
 
Measurements 
Width: 47 (52, 57) cm 
Length: 53 (55, 57) cm 
 
Pattern information 
The sweater is worked with 1 strand of each 
yarn quality. You work English Rib in the 
round on circular needles. 
The sweater is worked bottom up. The 
sleeves are worked in the round on circular 
needles in the Magic Loop-technique. 
Body and sleeves are hereafter slipped on 
to one needle and the yoke is worked with 
raglan decreases. 
 
Hashtags for social media 
#hobbiidesign   #hobbiinaya 

 
 
 
 
 
 
 
 

   
 
Have fun making this pattern! 
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Front- and back piece 
CO 112 (124, 136) stitches with 1 strand of each yarn quality and work English Rib in the 
round. 
Starting round:​ *k1, yo, slip 1 stitch purlwise*, repeat from * - * on entire round. 
Insert a marker at the beginning of the round. 
 
English Rib (on circular needles) 
1​st​ round/purl round:​ *yo, slip 1 stitch purlwise, ​purl​ yo and slipped st together*, repeat 
from * - * on entire round. 
2​nd​ round/knit round:​ *​knit​ yo and slipped stitch, yo, slip 1 stitch purlwise*, repeat from * - * 
on entire round. 
These 2 rounds create the English Rib.  
NB! ​The entire sweater is worked in English Rib in the round. 
 
Continue until piece measures 35 (36, 37) cm. Finish with a KNIT round. 
Insert a marker in each side of the sweater = 56 (62, 68) stitches for the front- and back 
piece. 
 
Armhole 
BO 5 stitches above the markers in each side of the sweater: k1, p1, k1, p1, k1, continue 
until you have worked 51 (57, 63) stitches after last BO. BO 5 stitches again: k1, p1, k1, p1, 
k1 and work the rest of the round = 51 (57, 63) stitches for the front- and back piece. 
Put piece aside and work the sleeves. 
 
Sleeve 
CO 28 (30, 32) stitches and work English Rib in the round. 
Insert a marker at the beginning of the round. 
Work 6 cm and finish with a purl round. 
PLEASE NOTE: the round begins in between 2 loops. 
 
Begin increasing 
NB! ​Increase at the marker alternately in a​ knit stitch​ and a ​purl stitch​. 
 
Increasing in a ​knit stitch with yo ​on a KNIT round​:​ work the knit stitch as follows: k1, yo, 
k1, and work the rest of the round. 
On next round you work the stitches as follows: yo, slip 1 stitch purlwise, p1, yo,  
slip 1 stitch purlwise, and work the rest of the round. 
You have now increased 2 stitches = 30 (32, 34) stitches. 
 
Continue until you have 5 cm since last increase. Finish with a KNIT round. Work 1 stitch 
and move the marker to the left of this stitch. 
Increase on next round in the “new” purl stitch from previous increase. 
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Increasing in a ​purl stitch with yo ​on a PURL round​:​ work the purl stitch as follows: purl the 
stitch and yo together, yo, purl the stitch and yo together. Work the rest of the round (finish 
with a k1). 
 
On next round you work the stitches as follows: yo, slip 1 stitch purlwise, k1, yo, slip 1 stitch 
purlwise. Work the rest of the round (finish with a normal k1). 
You have now increased 2 stitches = 32 (34, 36) stitches. 
 
Repeat these 2 increases. 
NB: ​you work until 1 stitch after the marker and you move the beginning of the round 1 stitch 
to the left, so that you increase in the middle of the two increased stitches all the time. 
 
Continue increasing until you have a total of 44 (46, 48) stitches. Continue until piece 
measures 45 cm. Finish with a KNIT round. 
 
Armhole 
BO 5 st above the increases: k1, p1, k1, p1, k1, work until beginning of the round = 39 (41, 
43) stitches. Break yarn. 
NB: ​the beginning of the round is not right above the decreases. Move the stitches so both 
tips are next to the bound off stitches. 
Put piece aside and work one more sleeve in the same way. 
 
Yoke 
NB: ​it is ​very important, ​that all stitches for both body and sleeves are finished after a purl 
round (the next round is a knit round), or else the English Rib pattern will be wrong. 
 
KNIT round: ​slip sleeves on to same circular needle as the body like this: back piece, 
sleeve, front piece and sleeve. At the same time, purl 2 st together on each side of both 
sleeves = 4 stitches decreased = 176 (192, 208) stitches. 
Insert a marker at the beginning of the round (between the back piece and left sleeve). 
PURL round: ​work​ ​English Rib and finish 1 stitch before the marker at the beginning of the 
round. 
 
NB: ​now insert a marker ​in each ​of the stitches, that were purled together on each side of 
both sleeves = 4 markers = raglan. 
Please read the description below before continuing: 
Decrease in all knit rounds, but respectively with: 
(k1, p1, k1) and (p1, k1, p1). 
As the decreases are reversed, we recommend to use 1 color for the decrease on the left 
OTL ​and another color for the decreases on the right ​OTR. 
Decrease OTR (2 stitches decreased): ​work until 1 stitch before marker, k2tog, move stitch 
back on left needle, slip knit stitch and yo over stitch and move stitch back on right needle. 
Decrease OTL (2 stitches decreased): ​work until 1 stitch before marker, slip 1 stitch 
knitwise, k2tog, and pass slipped stitch over k2tog = 2 stitches decreased. 
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Decrease purl (2 stitches decreased):​ p2tog, move p2tog back on left needle, slip p2tog 
over stitch and move the stitch back on left needle. 
 
 
Begin decreasing for the raglan 
1​st​ decrease:​ (k1, p1, k1). 
Work until 1 stitch before beginning of round (back piece/left sleeve) and decrease ​OTR, 
continue until 1 stitch before the marker between left sleeve/front piece and decrease ​OTL​, 
continue until 1 stitch before marker between front piece/right sleeve and decrease ​OTR​, 
continue until 1 stitch before marker between right sleeve/back piece and decrease ​OTL, 
work the rest of the round = 8 stitches decreased. 
Next round: ​work an English Rib​ ​purl-round. 
2​nd​ decrease: ​(p1, k1, p1) 
Work until 1 stitch before marker between left sleeve/front piece and p2tog, *continue until 
next marker and p2tog*, repeat from * to * a total of 4 times = 8 stitches decreased. 
Next round: ​purl-round in English Rib. 
 
Repeat these 4 rounds until there are 64 stitches left. 
 
Collar 
Continue working English Rib in the round until the collar measures 8 cm. BO loosely in rib. 
 
 

 

Hobbii.com - Copyright © 2020 - All rights reserved. Page 5 

 


